6.6 Vector Product

587. Vector Product of Vectors u and v
uxv=w,where

. |W|=|ﬁ|~|§|~sin6,where Oﬁﬁﬁg;

« wlu and w1 v;
« Vectors u, Vv, w form a right-handed screw.
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Figure 83.
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588. w=ixv=[X, Y, Z,
XZ Y2 Z2
Y Z X, Z|IX Y
589. w=uxv=[| " _'L,-"" Ot
Y2 ZZ XZ ZZ X2 Y2

590. S=[uxV|=[d|-|v|-sin6 (Fig.83)

591. Angle Between Two Vectors (Fig.83)
) uxv
sSin 9 =
] -[¥]
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592. Noncommutative Property
ixv=—(Vx)

593. Associative Property
(M) x (uv ) = At x v

594. Distributive Property
ix(V+W)=tUxV+Uxw

595. uxv=0 if 4 and v are parallel (6=0).
596. ixi=jxj=kxk=0
597. ixj=k, jxk=1,kxi=}j
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